





2)

(13 f'hu,(ou x/ N e pderfaz  de la SQC‘C_«'-O/L( A

x/3 Cau
—
P S S I-xm
EESCRERERYT e 2
“romog.
A4 e -
- Meus O. Acero j ’_L
bo—— =io- v
a0 =
3. ool SHeq .

Busco x/ Ve = Mhem

Y= (183) (3) + (%) (%) (#5) cm = Adem

(2/3)F +12,3

= A28 e+ Ms 2 cwt = Mzer + 256 2 =

<Reol Sheq
v C = Umév,c

Ton () = (%'6/?) 5 4 ééi\) (3 (2P 8532 + {@a)(3) -
¥

12
/—»\/»Nf A»-/_\/-"\,j
5 s = DoRm, )
SH
Ows,y = M.Msp  _ Plem). 0103 em

e 205 HF x10”® it



S Real <H TRAC 6
Gma'){71' =N Oy = A & P (v -003m = U-adm,u - AR Fa
b 205HF 10 ¥ H

— P = S5  — [P =5k

9 0 )

P
AR l TMa=0)~49-2 + Teo.4 - 5P =0

5 1\1:50 Fep = OS5 ka
T\]A. ; , 4
i B —9\1?% = 24,25k \

Z‘\":O) VA +Fep - Aq_—? =)
—> WA = ’\‘5\?3‘&@\

Diaﬂrawas-
939
[\ ac
Vo (k) x : =+ ]
Vz ! = B TTE
— 20,25
Q35
SR S a
|
| A

A
) o =
i | \ 24,25
D
7







